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PART A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76- Small animals in the forest move about ............ one can barely catch a glimpse of them.
1) such a quickly that 2) too quickly as to
3) quick enough so that 4) so quickly that
77- In learning a second language, some people are very analytical and want a rule for everything, ............
others prefer to gather examples and memorize them.
1) since 2) so that 3) while 4) as if
78- Saeed tried to sell his old computer instead of ............ , but no one would buy it.
1) throwing it away 2) throwing away it 3) throw it away 4) throw away it
79- Police are warning drivers ............ out of the roads unless their journey is really necessary.
1) to not go 2) not to go 3) not go 4) don’t go
80- In February, there were 15% fewer homes under ............ than in the corresponding month of last year.
1) development 2) performance 3) construction 4) projection
81- Make sure you ............ yourself. I don’t want you to be ill due to this weather.
1) keep up 2) look after 3) make up 4) take off
82- The manager should take ............ action if safety standards are not being met.
1) economical 2) frequent 3) separate 4) appropriate
83- Three students were ............ from the school for persistent bad behavior.
1) removed 2) measured 3) located 4) stretched
84- The............ for getting a working visa in this country is quite complicated; you should seek advice from
a lawyer.
1) instrument 2) procedure 3) quality 4) material
85- The doctor had to ............ a tube down my throat to examine my stomach.
1) cover 2) stick 3) develop 4) realize
86- The police said that the accident ............ at about 9:30 pm.
1) occurred 2) insisted 3) performed 4) consisted
87- She’s made one or two mistakes - mainly spelling errors - but it’s ............ well written.
1) flexibly 2) rapidly 3) basically 4) finally

PART B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

The science of genetics has officially existed ever since the word “gene” was coined in 1909 by the
Danish botanist Wilhelm Johannsen (1857-1927). He invented the term ...88... the “particles” of
inheritance that pass characteristics from one generation of plant or animal to the next. The ...89... of
genetics developed over the course of the 20" century, and ...90... . Scientists showed that genes are
sections of the long molecules of deoxyribonucleic acid (DNA) that are connected together to form
chromosomes. Genes ...91... the instructions by which plant and animal cells are built. Genes are passed
from both parents to their children. By this ...92... , called heredity, inheritable characteristics are passed
from one generation to the next.

88- 1) described 2) describe 3) to describe 4) he described
89- 1) field 2) aspect 3) region 4) union
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90- 1) produced an important discovery about how are the genes working
2) produce important discoveries on how genes are working
3) produced important discoveries about how genes work
4) produce important discovery on how will genes work
91- 1) containing 2) that contain 3) contained 4) contain

92- 1) process 2) nutrient 3) issue 4) object

I PART C: Reading Comprehension I

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your

answer sheet.

Passage 1:

A thick layer of air, called the atmosphere, surrounds our planet. It is made up of invisible gases. The
atmosphere extends hundreds of miles into the sky. The lowest layer is only about six miles (9.65 km) thick. It
is called the troposphere. The troposphere is where Earth’s weather happens. This is because this layer of air
contains the most water. You usually can’t see this water because it’s an invisible gas called water vapor.

Many factors work together to create the weather in the troposphere. The three main factors are the
sun, wind, and water. The sun heats up the Earth’s continents and oceans. Wind spreads this heat around.
It also spreads around the water vapor in the air. The weather in the troposphere is constantly changing.
Water vapor in the air can cool and turn into rain clouds. Wind can later blow the clouds away, leaving
clear blue skies. Then dark clouds can scoot in, bringing a noisy thunderstorm.

Meteorologists are scientists who study the weather. They study the effects of the sun, wind, and water
on the troposphere. They also study changes in the weather. Meteorologists get weather information from
many sources. They have nearby weather stations that contain different instruments. Thermometers
measure the temperature of the air. Wind vanes show which direction the wind blows from. Anemometers
measure the speed of the wind. Rain gauges measure rainfall. Hygrometers measure the amount of water
vapor in the air. Barometers measure the atmospheric pressure.

Meteorologists use computers to gather information. They get information from weather stations
around the world. They also study weather radar pictures that show rainfall. From space, weather satellites
send information about clouds and temperatures. Meteorologists study all the information. They prepare
weather charts and maps. Meteorologists also predict what the weather will be like in the future. That way,
they can warn people if there will be weather problems.

93- Which of the following is NOT a characteristic of the troposphere?
1) It is the lowest layer of the atmosphere.
2) It contains the least amount of water vapor.
3) It is less than ten miles thick.
4) It is where Earth’s weather happens.
94- Which of the following is NOT used by meteorologists to gather information?
1) special satellites 2) anemometers
3) space shuttles 4) radar pictures
95- Why do meteorologists get weather information from many sources?
1) They can then draw a map.
2) They’ll know what the weather will be like in a week.
3) They’ll know as much weather information as possible.
4) They can tell people what it is like to be a meteorologist.
96- There is enough information in the passage to answer which of the following questions?
1) What are the different layers of the Earth’s atmosphere?
2) How do satellites help meteorologists predict the weather?
3) How far in advance can the weather be realistically predicted?
4) What percentage of the time is the weather forecast correct?
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Passage 2:

Today, many people use the Internet. You turn on a computer, type in a few words, and you’re linked to
the Internet. You can listen to music. You can get information. You can also send e-mail letters to friends.

Did you ever wonder how the Internet got started? The United States government came up with the
idea. In the 1960s, the government wanted to connect some of its computers together. That way, the
computers could share information. Someone on one computer could get information from another. The
government’s computers were in different places. Some were even in different states. Computers in
different places had never been hooked together before. People had to figure out how to do it.

People spent several years working on the project. Finally, in 1969, four computers were connected.
Telephone lines linked them together. Three computers were in California. They were in different cities.
The fourth computer was far away in Utah. People sent information from computer to computer. People
were able to share information. This was the beginning of the Internet.

Many more computers were linked to the Internet. Scientists joined in. So did colleges and businesses. The
Internet was growing. Still, home computers weren’t part of the Internet yet. That’s because the Internet was
hard to use. People had to type in complicated codes. Also, the codes weren’t the same for all computers.

97- Why did it take several years to link the four computers together?

1) The computers kept breaking down.

2) The wires weren’t long enough to go from room to room.

3) People had to figure out how to hook them together.

4) The telephone lines had to be put up on electric poles.
98- The phrase “came up with” in the second paragraph could be replaced by ............ .

1) performed 2) referred 3) suggested 4) ignored
99- Why did it take a while to connect home computers to the Internet?

1) The Internet was hard to use at first.

2) There weren’t enough computers.

3) People didn’t have enough money.

4) People lived too far from the government.

100- The paragraph following this passage would most probably discuss ............ .
1) some technical terms regarding the Internet

2) the number of worldwide Internet users in the 1980s

3) how the Internet became available to the public

4) Internet-based businesses around the world
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